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2= ARARSY T} 16, 134,336 18,968,277 AN 2,833,941
= 1,680,897
g 9,546,000
= 4,907,439
R A A e = 16,095,846 18,929,787 AN 2,833,941
= 1,680,897
= 9,546,000
o= 4,868,949
SAE SEIE JIBIRE 7,755,500 15,229,736 NT,474,236
= 556,001
g 4,825,000
o= 2,374,499
SAMEREALAHE 1,469,700 1,316,000 153,700
Fag 1,215,000
= 254,700
403 XX S M S X201 A 1,469,700 1,316,000 153,700
Fag 1,215,000
= 254,700
01 IS A2E X 1,469,700 1,316,000 153,700
=M FTE HY 980,000
Fag 800,000
& 180,000
OFHE M2 HEAME XN (YY) 489,700
g 415,000
= 74,700
FMEIINESREAEXE 340,000 365,000 A 25,000
403 XX SRS K20 & 340,000 365,000 A 25,000
01 AIXISHM A =2E X 340,000 365,000 A 25,000
O20] dsHE AMEXEH 50,000
onrEgd JtEs& d=HdEBAE X 90,000
OZEHMA AlE X & 30,000
O0tEZ JIZ28USAE N 120,000
OXNMEINNZ2LSHED NI(FE) 50,000
>=AME AHEER S 90,000 90,000 0
308 MXISHHMSOIA 90,000 90,000 0
01 HXHHIMNEXZ 40,000 40,000 0
OL=4AE2 AHIEXR ALY 40,000
10 21 2SUHUSHEAEAE AN Y| 50,000 50,000 0
OA8IX 2HH ¥ 5= 2= 50,000
HMUAILATHI A 65,063 22,265 42,798
= 50,049
& 15,014
308 XAHXIGHH SO0l & 65,063 22,265 42,798
= 50,049
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< 15,014
01 IXNHHBNEES 65,063 22,265 42,798
Odgd ZHEM XA 65,063
= 50,049
< 15,014
=2 HAANE HE X 1,090,000 1,190,000 2100, 000
= 500,000
= 590,000
308 XX EHHSOIA 350,000 280,000 70,000
01 AXHHILEES 70,000 70,000 0
O=¢dals ZTHMW XI& 70,000
10 37/ 2S0HUHeZ&EEALS I 280,000 210,000 70,000
OMAZ HAAIE KA 160,000
O=x=dAE =2 4E3 60,000
ovEad 2 =2ctol Ot 2F X 40,000
O=U =&AZS d2HA X 20,000
403 A X EHHSH20IA 740,000 910,000 A 170,000
= 500,000
< 240,000
01 X ESHHMA=LE L 740,000 910,000 A 170,000
OtEZ M2ME Ald X& 90,000
OOtEZ IHEE=+ d==Al4 650,000
= 500,000
< 150,000
SIS THON A 7,737 25,171 A17,434
= 5,952
= 1,785
308 XXIEHHSOIA 7,737 25,171 A17,434
= 5,952
< 1,785
01 HXNHHNBHELS 7,737 25,171 A1T,434
OogdHtE T W 7,737
= 5,952
< 1,785
S=MSAXITSAIEAHE 1,930,500 2,691,000 A760,500
s 1,485,000
< 445,500
403 Mt SHHSA=0l& 1,930,500 2,691,000 A760,500
s 1,485,000
< 445,500
01 HXSHMA2E X 1,930,500 2,691,000 A760,500
O=x=&s &XINSAE K& 1,930,500
s 1,485,000
< 445,500
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SMASMAAHEHIZTE 2,762,500 8,295,300 25,532,800
s 2,125,000
< 637,500
403 UHXISHHSA=0l& 2,762,500 8,295,300 25,532,800
s 2,125,000
< 637,500
01 HXESHMA=LE L 2,762,500 8,295,300 25,532,800
SAMAS AANEHI =4 2,762,500
s 2,125,000
< 637,500
SAMAEHY & OHE 962,646 419,008 543,638
= 416,096
< 546,550
SN HESIXE ALY 400,000 260,000 140,000
= 200,000
< 200,000
308 XXM SO0l A 400,000 260,000 140,000
= 200,000
< 200,000
10 B2 S0 B&HAE AR 400,000 0 400,000
OZANYHERIXNZ 400,000
= 200,000
< 200,000
HEANL S 23t 150,000 150,000 0
403 XIS E X201 & 150,000 150,000 0
01 X SHHAN2E = 150,000 150,000 0
OHEHZLYETHSE 2F=0HEH XN&A 150,000
S MY FHY & 4 7,208 9,008 A 1,800
201 £B-2dH| 1,800 3,600 A 1,800
01 At 22l 1,800 3,600 A 1,800
OWENA HUYETH 2A3AIY HIIEH 5 2
AFE 2E10%) 1,800
202 04l 2,700 2,700 0
01 = LH 4 Hi 2,700 2,700 0
Obatde =z o SAAZAH ST (0 AE 2
0%) 2,700
203 ¥R =&l 2,708 2,708 0
03 A=A H =AY 2,708 2,708 0
O=4atahel AR =X (0l A 2H5%) 2,708
HAHAE SAHIO 16,250 0 16,250
= 12,500
< 3,750
308 X EHSOIA 16,250 0 16,250
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& 3,750
01 AIKISHEMNEXZ 16,250 0 16,250
OHAHAZ==EAHOI 16,250
= 12,500
= 3,750
HENWIEAAHAEE A 244 188 0 244 188
= 201,096
=} 43,092
308 MXISHMSOIA 244 188 0 244 188
= 201,096
=} 43,092
01 IXHHIMNEEXTZ 244,188 0 244,188
OFEHYAIAHEEXK (A HI) 244,188
= 201,096
& 43,092
HEWYUIHAEZXK(2EHI) 5,000 0 5,000
= 2,500
= 2,500
201 gEt24d| 2,000 0 2,000
= 1,000
= 1,000
01 AP 22| H| 2,000 0 2,000
OFENHYEAAHE =X 2,000
= 1,000
= 1,000
202 044 3,000 0 3,000
= 1,500
& 1,500
01 2L I 3,000 0 3,000
OFEHYUEAHE XA 3,000
= 1,500
& 1,500
HAHAHAZEX 2 HEEH XS 20,000 0 20,000
308 AMXISHMSOIA 20,000 0 20,000
01 AIXSHMENEXZ 20,000 0 20,000
OANZ AHA=ZXNRAEH XS 20,000
S MEAE SSHAHATAEXA 120,000 120,000
403 XX SHHS K20 A 120,000 120,000
01 XIS A2E X 120,000 120,000
ONMEME ZSHIAXNHSATAEXNE 120,000
Eg € g4 7,377,700 4,096,657
= 708,800
g 4,721,000
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= 1,947,900
L= DJjetx A 568,000 493,000 75,000
308 AXISHXMSO0IH 228,000 228,000 0
01 HXHNBIMNEXTZ 228,000 228,000 0
OW=H MENH wetH=d EX 142,000
OU=H 23 s KA 26,000
SLdSEIAY 30,000
OUWs+H Rl 2E2HS & X 30,000
403 XX SHH S K201 340,000 265,000 75,000
01 XX SHMAG2E X 340,000 265,000 75,000
OUa=HAEANHE J|BHAIE 40,000
OW=H HAHINE 4 40,000
OU==HH EMNS MAAE UG 120,000
OUW=H o&stgdis 25,000
OU=8H =0 & I 20UA 30,000
A=K HEH HAIEH AlE 2 45,000
ZAN0IMS ESAIE AIEAIY 40,000
HAIE BAML A 120,000 147,000 A27,000
= 120,000
403 X SHMS K201 A 120,000 147,000 A 27,000
= 120,000
01 XX SHMAA2EX 120,000 147,000 A 27,000
OSAIH BZHE ALY 120,000
= 120,000
ol & 2HXxd 108,000 0 108,000
403 ItXISH XS A201 A 108,000 0 108,000
01 XX SHMA2E X 108,000 0 108,000
Ogeledy & a4 108,000
OS2 0ls4 & &X 15,000 15,000 0
403 ItXISHNM S K201 & 15,000 15,000 0
01 AIXISHMA2E X 15,000 15,000 0
OS2 E 0lsa st&EA &X 15,000
HE &0l X3 5,900 53,100 N47,200
= 5,000
= 900
308 XX S M SO0l & 5,900 53,100 N47,200
= 5,000
& 900
01 AIXHMBAEXZ 5,900 53, 100 N4T,200
og =<0 X3 5,900
= 5,000
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| < 900
HESESXNHEH XI& 500,000 500,000 0
= 250,000
< 250,000
308 AHXIEHHSOIA 500,000 500,000 0
= 250,000
< 250,000
1037/ 2S0HUHeBHEAEALS I 500,000 500,000 0
ONHESSANJAEHX A 500,000
= 250,000
< 250,000
HEZIHE = 325,000 0 325,000
= 250,000
< 75,000
403 X SHHE A0l & 325,000 0 325,000
= 250,000
< 75,000
01 XM A=2E X 325,000 0 325,000
OHEMHE = 325,000
= 250,000
< 75,000
HENEOIES AREHEXNE ALY 83,800 64,800 19,000
= 83,800
308 XX EHH SOl A 83,800 64,800 19,000
= 83,800
01 X HHILEES 83,800 64,800 19,000
OHEMENSAREHEXNZ 83,800
= 83,800
A HE N 2,710,000 564,286 2,145,714
s 2,401,000
< 309,000
403 XIXISHHIS X =201 & 2,710,000 564,286 2,145,714
s 2,401,000
< 309,000
01 XM A2E X 2,710,000 564,286 2,145,714
Ot HEMNHE 2,710,000
s 2,401,000
< 309,000
OrSE?l E3teg 2,125,000 507,857 1,617,143
ras 1,883,000
< 242,000
403 RHXI S A S X =0l & 2,125,000 507,857 1,617,143
as 1,883,000
< 242,000

01 X S22 = 2,125,000 507,857 1,617,143
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otrsHe S3tHg 2,125,000
s 1,883,000
< 242,000
XA A2 st 256,000 237,000 19,000
s 227,000
= 29,000
308 XXM SOIA 256,000 237,000 19,000
s 227,000
< 29,000
01 IXNHHBANEES 256,000 237,000 19,000
OXle o es2tst 256,000
s 227,000
< 29,000
HE&g=Z 79,000 0 79,000
s 70,000
< 9,000
403 A X EHS =0l A 79,000 0 79,000
s 70,000
< 9,000
01 X EHHMA=ZLE L 79,000 0 79,000
onzzg=z 79,000
as 70,000
< 9,000
L2AZHBALE(REW) 158,000 0 158,000
s 140,000
= 18,000
403 MtXISHH S =0l & 158,000 0 158,000
s 140,000
S 18,000
01 AXSHMA2E X 158,000 0 158,000
OARZAZANE(RED) X 158,000
s 140,000
< 18,000
HEAS 2 A8 X2 144,000 100,000 44,000
403 XIS E X201 & 144,000 100,000 44,000
01 XM A=2EE 144,000 100,000 44,000
O0EH 3 2 144,000
HdCZOHENENS =4 180,000 0 180,000
403 A X EHHS =0l A 180,000 0 180,000
01 X HHMAZE L 180,000 0 180,000
OHENHENELNS =4 180,000
AHE 2L (LA D) 38,490 38,490 0
Jl2ddl(=4atahdat) 38,490 38,490 0
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